TABELA ROBOT ZIEMNYCH - WYKOPY

Pikietaz Powierzchnia Srednia powierzchnia | Odlegto$é | Objetosé Suma
algebraiczna
km m m? m?2 m m? m?
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5,8 27 157 fa===" s
0 27 5,8 157
5,85 22 129
0 49 5,9 285
4,2 28,9 121
0 77,9 2,5 407
2,4 29,2 70
0| 1071 2,3 477
2,65 28,6 76
0 | 1357 3 553
3 47,1 141
0| 1828 3 694
2,9 25,5 74
0 | 208,3 2,8 768
2,75 26,8 74
0 | 2351 2,7 842
2,8 27,5 77
0 | 262,6 2,9 919
2,85 25,9 74
0 | 2885 2,8 992
2,65 28 74
0| 316,5 2,5 1067
2,5 28,1 70
0 | 344,6 2,5 1137
3,35 28,4 95
0 373 4,2 1232
3,7 25,1 93
0 | 3981 3,2 1325
4,7 30,2 142
0 | 428,3 6,2 1467
7,3 34,4 251
0 | 462,7 8,4 1718
7,25 25,7 186
0 | 4884 6,1 1904
4,25 27,9 119
0 | 516,3 2,4 2023
2,35 28,6 67
0 | 5449 2,3 2090
2,35 27,2 64
0 | 5721 2,4 2154
2,5 40,9 102
0 613 2,6 2256
2,55 41,1 105
0 | 6541 2,5 2361
3,05 31 95
0 | 6851 3,6 2455
3,6 28,6 103
0| 713,7 3,6 2558
3,7 27,1 100
0 | 740,8 3,8 2659
3,4 29,7 101
0| 770,5 3 2760
3,65 58 212
0 | 8285 4,3 2971
6,25 52 325
0 | 880,55 8,2 3296
9,55 24,5 234
0 905 10,9 3530
10,9 34 371
0 939 10,9 T —— ST —— T—— 3901
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